Potencias de 10 (D)

Calcule los siguientes cocientes.

341 30--0.001
22+1 3410
16 -1 911000
86 +0.001 7710
871 40-+-0.01
611000 17-+0.1
261 14 +1000
25+100 2-+0.001
27--0.001 58 +0.1
33-+0.001 58 =1
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Potencias de 10 (D) Respuestas

341
34
22 +1
22
161
16
86 +0.001
86,000
871
87
61+ 1000
0.061
261
26
25+100
0.25
27+0.001
27,000
33 +0.001
33,000

Calcule los siguientes cocientes.

30-0.001
30,000
34 +10

3.4

91 =1000
0.091
77+10

7.7
40+0.01
4,000
17+0.1
170

14 +1000
0.014

2-+-0.001
2,000
58 0.1

580
58 +1
58
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